

$$\triangle \triangle = \diamond \diamond \diamond$$

Como:

$$\square \circ = \triangle$$

Então:

$$\square \circ + \square \circ = \triangle + \triangle$$

ou

$$\square \circ + \square \circ = \diamond \diamond \diamond$$

$$\circ \diamond \circ \diamond \circ = \diamond \diamond \diamond$$

$$\circ \circ \circ \circ \cancel{\diamond} \cancel{\diamond} = \cancel{\diamond} \cancel{\diamond} \diamond$$

$$\diamond = \circ \circ \circ \circ$$

E como:

$$\square = \circ \diamond \quad \text{Temos:} \quad \square = \circ \circ \circ \circ \circ$$

Um quadrado equivale a cinco círculos